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h
1} v Msed as fungicide,
ajVyUs b)CuSO, ¢ MnSO, dib&c
2} HCl gas forms white clouds if exposed to
glass rod wet with ...due to formation of ...
a) petassium permanganate, KCl,
b} Lead acetate, PCl..
c) Ammonia solution, NH.Cl.
d) no correct answer.
3) A system at equilibrium
BaS0uy=== Ba 'y + 504" jug
Then by adding 100mi of sulphuric acld 0.1M
a} [Ba®"] increase. b) [Ba>'] decrease
c) Ksp value increase
d} equilibrium not affected

‘hittps//fadrda

a)0.83 b}0.83 cjo0 djioa
'5) The bond length between any two carbon
~ atoms in'CgHg molecules is intermediate

between bond in ...

‘@) CoH, CoHg . BJCHa oHe ¢
) CiHy, Gy dICHg GiHy

6)Alkyl ..... is preferred in hydrolysis to get
alcohols. :

a} chioride h_] bmmiﬂe c) fluoride d) iodide

I 1)d 2)c 3)b &b S)b 8

1] ?rncass nfdfppirg ::tlml in molten zinc to
protect it from corrosion.

2} At constant temperature, rate of chemical
reaction Is directly proportional to the result
of multiplication of concentrations of
reactants.

3} Compound used as widening matarial for
arteries in treatment of heart attacks.

4) Reaction of benzene with methy|
chlcride in presence of catalyst,

5) Chemical substances that change’their
color by changing the reattion mﬂqum

to detect the end point of the reaction.

1} Galvanization
2) law of mass action 3} Tri nitrogiycerol
4} Atkylation reaction (Friedie craft)

5) indicators.

Show experiment for:

1-Prove Faradafs. first law & second law
2-Electropiating of jug by silver

1
I

electric current with 10 amperes for half an
hour in copper (U]} sulphate solution. [Cu=63.6)

BRI eq. mass of Cu = 63.5/2 = 31.75¢
Mass = {1 X T X eq. miass}/96500

Answer by vourself
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I
I
i
|
I
I
|
|
i
I
|
|
|
|
|
|
I
I
I
I
I
|
|
I
1
|
i
i
|
|
I
I
|
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|
|
1
I
!
{
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|
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I

=0

38aClyy > Bag{POalyy
3 moles < 1imole
B2dg — 601g

X 2 1.21g , X {mass of BaCl,)= 1.26g

1) Sodium chloride and Sodium bromide

Z) Sodium carbonate solution & ammonium
carbonate solution.
3) Ethanol & phenol,

— i g2 o n ———

| Sedium Sodium i

| chioride bromide |
By white ppt of AgCl | a white yelluw |
adding | is formed, which: | ppt. of silver ;
[

201 ‘IEgMQ

i
f sunhght ‘
|
I

NaCi + AgNO; I NaBr + AgNO;

- NaNO; + AgCi _'_Eﬂﬂﬂw-ﬂiﬂ-!"

FEESNSS— S

———————— —— r—

Sodium | Ammonium 1{
carbonate | carbonate

_ uwes. blue cni:nr, ¥ i Gives Purple c-:::.rlm:?hh
| where it formsan | where it forms a
alkafine solution. neutral solution.

N,COy e LINHICOS s

2Na" + Cﬂ'a} ! : :
| EH‘QG i E 2% ;HH,‘ + COy4
" 20H 4240 | T T
asen 20H + 2H" |

Na,CO; + 2H:0

—-u-'\lﬂ-

2Na" +20H 4 H,C0y |

T

{NH.):C05 + H,0

NH, OH + H,C05

i e o

| Ethanol |  Phenol |
| Adding Fetlj ' No change Gives violet tum

Adding Br; | No change White ppt 5
[sotution | _ i I

m in the following reaction:

Nz + 20, === Zﬂﬂﬂt;, AH=(+)
Show the effect of each of the following
on {0]

1} increasing volume of vessel.

2} increasing excess of N,.

3} Rermnoving NO; gas from the reaction |

medium
1) Oxygen concentration increase.

2) Oxygen concentration decrease.
3) Oxygen concentration decrease.

T " i TR S e e i

| Draw Iahe!ed diagram for:
Standard nydrogen electrode |, giving
its symbol

e

.-'

-p-n-— Al o

[Mj Give reason for;:-
1} Alcohols are neutral compounds have
weaak acidic character.

2} Iron il chioride solution has acidic effect
on litmus.

- W F o L - F e

§ e

these solutions are not ionized
| contain no free ions]

Cong, | pure acetic acid CHyCOOH or
HCl dissolved in benzene are ;

non-electrolytes !

m The opposite two figures represent
the first two members in homologous serie

Answer the HH H A

foltowing: ¢ :

g FNRE N

} Mention yo_t.oy gec—c-
another i g &

PIOPEtY BY compoundy  compound X
which the homologous series is

characterized (Differ from having the
same general formula).

2} Deduce the general formula for this
homologous series.
3) Write the structural formula of alkene
that represents isomer for compound X.
Hns.
1) Has the same chemical properties, gradual
physical properties and each member
exceeds the previous one by methylene

(~CH:-) gp- 2) CoHzn
3) H
I H
c ..*.< L

m Show by balanced chemical equation he
you can abtain:
1) Silver chioride from hydrochioric acid.
2} Toluene from benzene.
3) tron !t sulphide from magnetic iron
_,  Oxide.
BRI 1) HCI + AgNO; - AgCl+ HNO,
2)

il
I
H i e
I
i
H

-

cH,
@ + CH,CH St S @ + FHCH

3} S4C0 (e + FE3G M EFEM +#E'D—u.;,

Fe..+ S,. "'"'"-'-------l"-IEI FesS;.



i) Bﬂnmne and wduheuuna

2) Activation energy and activated molecule
3} Qualitative and quantitative analysis

4j The fuel cell and the lithium jon battery
{with respect to: Anodic reaction —E it}

__Bemzene [ Cyciohexane |
| Typeof | Cyclic Lyclic
 compound | aromatic aliphatic |
Type of | Bonds between | All bonds i
bonds carbon single - | between
| double bopd | carbons are
are exchanged | single }
| |
MLE i | CSHE ~ CeHiz
1 i E |

e e e e T T T TL L TP

is a rinimum amnunt Are maf&tuies

| of energy that must be | which have kinetic
 gained by a molecule | energy that equals |
to begin the reaction | or more than ,
at collision | activation energy |

=4 e okl ug o bl b o G e

T T O iy il

AR tluaﬂtaﬂw 2
Branch of chemical |t is a branch of

| Bftalysis aims to know | chemical analysis
the type of constituent | alms to know the

i of the substance  quantity of each one |

| through a sequence of | of constituent of the |

Quantitative

i <P e e g e

i selected suitable substance

| reactions RIS Ar
L T fuelcell _ i__iﬂtium jon |
% Anoadic ? ZHHE} + 40H {iqi LICEE&} i
; ;raaf:ﬂnn L 2 AH O +4e | Co+Litve
BT 1.23V : 3V

[[{e8} Barium chioride is used to differentiate
between sodium salt of both SO, %and PO*>
anions. in one of its experiments, 1.21 gram
of white ppt. of barium salt is formed, that
dissolve in diluted hydrochioric acld, identify
the anion, and then calculate the mass of
barium chloride that used in this experiment.

(Ba=137,Cl=355,P=31,5 =32, 0= 16)
1Ans J

anion iﬁ:-—.PQ;'“

3BaCiyag+2NasP gy 2 6NaClyg+ Bas(POL)u,

5 ' b

Exp. U::ing the circuit in of Lamp & pataf:r}f test

ERARLLTTLISLREM 2PNUTIL 2l 50 SO010m
wadide solution with heating.

4} Chromium and copper are anomalous
expected electronic configuration from
other elements of first transition series,

5] Not all collision between molecules In
reaction medium make reaction occurs.

1} Alcohols are neutral, bec. alcohols
aren't ionized, giving neither H” nor OH,

But they have a weak acidic character, bec.

of polarity of hydroxyl group : as electron

pair of (O - H} shifted towards oxygen atom
that has higher electronegativity so this bond

can be broken by active metals only like Na ,

K , ...that can replace hydrogen of hydroxy! group,

203FsOH ) + 2Nay—» 20, H.ONay, + H wm

2} 8ec. this solution is acidic, where:

it hydrolyzed into strong acid & weak alkali.

Acc, to Le-Chatelier principle, weak alkali

Fe{OH}; consumes OH- jons that increase

the ionization of water, so increase HT

ions, so [H+1>[0H-]

FeCly ~ = 3¢ + EFe™
 3H,0 wesmenelag® L

FaCly + 3H,0 wseas 3H' 43CT + Fe{OH)s

- 3) Due to the formation of Hi gas that

oxidized fastly by H;50;, giving violet
iodine vapor,

Nal + H,50, 2L 8 . Na.S0,+ 2HI r
H;EQ;; + 2Kl e M0+ |5 & SG;
4} Due to extra stability of half-filled 4s
and haif-filled 3d in chromium atom
24Cr (Ar} 45°,3d° & extra stability of half-
filled 4s and completely filled 3d in
copper atom ,.Cu {Ar) 45*, 34
5) the molecules must have a minimum
amount ¢f energy which is called
activation energy to begin reaction.

&Y show by experiment the electric
conductivity of pure acetic acid & HCl acid
dissolved in benzene, m:p!atn-wur answer,

b sl s L

' the electric conductivity for
 Pure acetic acid CH,COOH or
» | HC! dissolved in b&nzen&

e e L TR —-|-|||-- vttt g LT mmwqu—

——“q-————_—-__—-———-_—_———_———_—_-—-—-—————-_———___“__——-_—_H_
1 -

[m Sample of hydrated calcium chioride
CaCl XH;0 its mass = 2,94gm. After strong
heating bacomes 2.22gm. Calculate:-
- The % of water crystallization.
~ Write the chemical formula of the hydratec
salt. [Ca=40, Ci= 35,5, O=16, H=1}
mass of crystallized water
=2.94~2.22=072g
% of crystallized water ={0.72 /2.84) x 100

= 24.48%
« CaCl,— AHLO
111 18X
2.22 -3 0.72 X=2Zmolecule
Formula is CaCl,.2H,0

‘arrange the following steps to
ebtain methane from sucrose with
writing the chemical equations:
(Dry distillation — Neutralization ~
Alcohalic fermentation ~ Hydrolysis —
Complete oxidation)
1Anis.|
1) Hydrolysis:- C;aH200,,,, #H:0, 5
CeHizQtagy + CoHi05

2] Aicoholic fermentation: |
CoH120% fagy B #ﬁilﬂzﬂgﬁﬂm +2C0 -
3) Complete oxidation

CoHsOHy, 22NN CHLCOOH + Hyo
4} Neutralization
CH3;COOH + NaOH = CH;CO0ONa + H.0
5} Dry distiliation
CH3COONa + NaOH -22/4 f:H#Na;Cﬂg

@ Show the electronic configuration
of Cobalt 1l ion {;,Co), and then show
the similarities between its prnpeﬂ:ias
and properties of iron.

#C0 {Ary } 48°,3d’, similarities as both
of them can be magnetized to be used
in manufacture of magnets.

m Eup'laln number of organic products
of toluene halogenation differs from that
of nitrobenzene halogenation . Explain



o2 bk &V G Znnglp

bj the :;ecnnd:~ increasing in atomic radius: by
increasing number of the electrons of 3d
sublevel, so the repulsion force increase
amang electrons of the outer most energy
tevel,

Write the hydrolysis equations for
the aqueous solutions of the following
salts. Then detect if the solution has an
acldic, a neutral or a basic effect.

1) NaHsSO,.

oec. in toluene (CH;) is directing group
to ortho- & para- positions, so 2 products
are produced, while in nitro benzene,

(NO,) is directing group to meta-
pasition, so 1 product is produced.

‘!:He
0n=0 - 02
o g

ﬁhﬂ'ﬂ I.I HEHEﬂ,;

i Na" +HS0,

OH +H"°

NaHSO0, + H,0 “==—=Na' + OH+HS0+ 1"

- The solution has neutral effect as it
produce strong acid and strong base

HO; Nﬂz

Feca '
% + Cly > + H
i el

{il L]
Meta chloro-nitrobenzene

Explain why phenol has more
acidity than ethanol.

Due te the presence of benzene ring in
phenolproduces a partial positive charge

m - : on the oxygen, so makes (0-H) bond mare
No. of moles of NaOH before dilution = polar, longer, easily broken, so facilitates

I
|
!
I
|
|
|
I
|
|
|
|
|
I
I
|
|
]
I
I
i
|
I
|
|
Calculate the volume of water which should :
|

I

i

I

I

|

no. of moles of NaOH after dilution : the separation of the H™ ion. While-in

|

i

|

|

i

i

|

|

|

|

|

|

|

|

I

I

i

|

|

|

|

I

|

|

|

|

|

|

|

|

I

|

be added to 200 mi of 2 0.3 molar sodium
hydroxide NaOH solution to convert it to a
solution with concentration 0.1 molar.

MXV=MXV ethanol the polarity of hydroxyl group as
03X200=0.1XV electron pair of O-H) bond shifted towards

- Volume of solution = 600ml, “:"’E""“ ﬂt‘"’:_t:‘“t h“;{‘iihﬂ"d
ectrone i et 3] an b
The volume of water added = .. negativity is bond ¢ e

_ broken by active metals only.
volume after — volume before dilution SEAE e ——————
= 600 — 200 = 400m|

Define polyester, give one example and
the equation of its preparation
Mﬁlﬂmr: i a polymer produced from
condensation of two monomers one of them
is a dibasic acid & the other is di-hydric
alcohol.
Example: Dacron fibars

F'unﬁcatmnnfcnpper & getting gold
& silver impurities from copper
E*Freparlng ethyne gas {acetylene) in

a lab.

Answer by voursell

Prepared by reaction of terphethalic acid with
ethylene glycol by esterification.

| [fellichoose:

The graph that shows the relation heml-n
the rate of chemical reaction and the
surface area of the reactants Is ...

N
SR D o S R —.
";1-'_' ill i

Torrpduigraibs g ': Errarnt g
-%lr*.,_i' ¥
4

o

= = oL
[ i i, L ]
ey by Ei@*ﬁ..vﬂ o oy — L
fogr A

el
LSRR T e ol dnbaptmyrt bpy oo mel

M] The following reaction show effect of
MnO; as catalyst to decomposition of H;0,
- Mention what arrows (A,B,C) indicates:-

+
Eormimggy "’"\. T
|
i

F N

T2 W

@S o

[m identify the basic radical for the
following two sait solutions on adding

". A

1
I radr

sodium hydroxide to each of them

(with chemical equations that

represent the reactian In each case}
! 1) The first salt soluti ves white F.o. i

I "
I
I
i
| gelatinous precipitate : Prosirsss of PRcEn
I
I
|
I
i

1-'“'*"-

-IHIu.I ¥ b
'H B 1l|||i|1'i1*ll II- 19 e bR R AR
m—_ | o R

=318 X

e s b e b e 1o P T

2} The second salt solution gives greenish- I
white precipitate. A} Activation energy without catalyst,

1S | B) Aftivatiun energy n.rur‘rth catalyst.
€} heatchamge (AH)

P el




2) Fel fFeSO 4 2NH,OH *{HH;}IEQ#FE{GH}E

| Determine the functional group for
the following compound with writing its
structural formula:

1} Acetone 2} Ethanal 3) acetic acid

| Funttinnﬂt 1 Structural |

. _ E

RS &!ﬂﬂ? formuls =
| 1) acetone | _.Ei*iﬂﬁ o S~ €0 —~CHy |
2} ethanal Formyl [ CH.CHO' i
3} acetic a. Earﬁqgﬁm CHACOOH :

M} By knowing that lonization t:ﬁn;ﬁtaﬂi
(K.} of hydrocyanic acld Is 7.2x10™ at
25°C and the concentration of tha acid
eouals 020, -
Calvulate: 1) degree of drmniaﬁan

2} hyﬁmxvi exponent

; ™
K3 S L]
Tr,
! I
» N -
¥

-l 3}:1{}“"1_ ®* 0.2 =

‘ 1.2x108 molar
P = -log fHT] = -log (0.03) = 4. 'El
P 14 -fh? *3 i

{8¥ Ethyl hydrogen sulphate

CaM: 080 H can undergo hydralysis ﬁr
thermal decomposition reactions.

By using batenced chemical equations,
caompare between the products of the
twn previous reactions.

By thermal decompositian, ethens is
produced.
E3H5‘{}5'ﬂaﬂ - ﬁiﬁl}_“ﬂ ; ﬂ:g-H; &+ ”,15{}4
By hydrolysis, ethanot is produced.

CotHg-OS0H ey HH0 £ a@mmﬂﬂ
Eﬂﬁg{jﬁ gy + HaS0y (aq)

(=1l write the general law of elactrolysis,

ka1 By passing quantity of electricity eguals
1 Farmay {96500 coulombe) through
giecirolyte, this lead to disselution, evolution
or precipitation of one eguivaient mass of

the substance,

EY1Explain stomic radius of element of the
first transition series is refatively constant:
Bec. There are two opposite factors:

a) the firsti- decreasing in atomic radius:- by
increasing the effective +ve charge of nucleus

from scandium to copper ,, so the attraction
force increase.

m calculate the concentration of

hydrochioric acid that 25mi of it is

neutralived with 0.84g of sodium
bicarbonate. [Na=23, H=1, O= 16, C=12]

No. of moles of NaHCO, = Mass/m.m

= 0,84/{23+1+12+3x16) = 0.01moles
NaHLO,; + HCl - NaCl+ €0, + M0
b = 7P b = P _
WV =7 Ve Z5x107L 0N
=1 - n=3
A mY L Moy
{ ¥ }m’“ i { i }‘”“}

(Ii;ﬂf-m{:!ﬂ;&:) o M xBas )
& MNallO, 1 B

{r.;r_,m") (Mlﬁﬁia:ﬁ
- b I NGEICO, T

ﬂaﬁﬂﬁﬂtraﬁnﬂ " ﬁ:! = 0.0L/0.025 = .48

Em;! Mmtmn ﬂﬂa use fmr each
of the following: '

1} Natural gas in midrex furnace.

2} brass alloy
4} oil of winter green

3 inditator
S0y #CH

1} Source of -ﬁeﬁuﬁtm agent (water gas ) +(two equations)

2} in electroplating ofiron handle,

3} Ta know the end point of resctions.

4) Local oibto skin to decrease
rheumatism pains,

5} [}&hydrﬂhng agent {absorbs water and
prevents backward reaction)

13 Hﬁaﬁﬁﬂ mﬁthanse EEE at iﬁﬁﬂ":’f with
fast cooling, and then passing the product
to red hot nicke! tube,

A1 Copper 1 sulphide from copper 1 sulnhats,
3} Reaction of iron with di, HCl & with:
Lo, HaR3,.

4iConversion of NGO, gas into colorless
Eas nas twice its molar mass

X
LEOG™C

1} 2CH, TFEFSSERET .M,
E{Z.EH.E e b - tﬁ-wbir Calbds L}
2 CUSOL+ HoS e CuS + HaS0,
2} Fag) + ZHC im‘ai‘“‘“"ﬂﬂ”"‘ Fetl py + Hyg
Ireg + ﬂﬁ}‘iﬂ#{&k" LS FRSOy aar
Fea{S0s oy A3 05 +8MH Oy,

5)57*2\.1:.-“).4 ,*ﬁihi.é



	1.pdf (p.1)
	2.pdf (p.2)
	3.pdf (p.3)
	4.pdf (p.4)
	5.pdf (p.5)
	6.pdf (p.6)
	7.pdf (p.7)
	16.pdf (p.8)
	17.pdf (p.9)
	18.pdf (p.10)
	19.pdf (p.11)

